CWT315

SPARE PART LIST
LISTE DE PIECES DE RECHANGE
ERSATZTEILLISTE

SAINT-GOBAIN

— 0/1}9/0/'



L4 :
VERS. 2022.10.19 W g/[ppg[’ SPL CWT 315

SAINT-GOBAIN



©
VERS. 2022.10.19 W g/lppg[' SPL CWT 315

SAINT-GOBAIN

[ENGLISH |
TYPE:

S = Spare part

W = Wear part

NA = Not Available

The kits of spare parts contain all screws and bolts and the components referring itself to it.

Screws and bolts is component of standard assembly, which you can easily find at all the retailers of standard compo-
nents of assembly.

All the components of standard assembly are of a quality grade 8.8.

We recommend not to use a quality grade lower than 8.8 for all the standard components of assembly.

The parts of replacements Norton CLIPPER must always be used.

Wear parts life will vary based on usage and maintenance of the machine or part. Wear parts will need to be
maintained and replaced as needed. No warranty is applied to wear parts.

The components NA (Not Available) are not available in spare part.

| FRANCAIS

TYPE :

S = Piéce de rechange
W = Piéce d’'usure

NA = Non disponible

Les kits de piéces détachées contiennent toute la visserie et les composants s’y rapportant.

La visserie est un composant d’assemblage standard, que vous pouvez facilement trouver chez tous les détaillants de
composants d’assemblage standards.

Tous les composants d’assemblage standard sont d’'une classe de qualité 8.8.

Nous recommandons de ne pas utiliser une classe de qualité inférieure a 8.8 pour tous les composants d’assemblage
standards.

Pour les piéces non standard, les pieces de remplacement doivent impérativement provenir de Norton CLIPPER.

La durée de vie des piéces d'usure varie en fonction de I'utilisation et de la maintenance de la machine ou de la piéce.
Les piéces d'usure devront étre entretenues et remplacées au besoin. Aucune garantie n'est appliquée aux piéces
d'usure.

Les composants NA (Not Available) ne sont pas disponibles en piéce de rechange.

| DEUTSCH

TYP :

S = Ersatzteile

W = Verschleiliteile
NA = nicht verfligbare

Die definierten Ersatzteil-Set’s beinhalten alle Ersatzteile wie Komponenten, Schrauben, Muttern etc.

Norm- bzw. Standardteile wie Schrauben, Muttern etc. kdnnen bei offiziellen Schrauben- sowie Komponentenhandler
bezogen werden.

Alle Norm- bzw. Standardteile wie Schrauben, Muttern etc. entsprechen der Qualitats- bzw. Festigungsklasse 8.8.
Wir empfehlen, keine Norm- bzw. Standardteile wie Schrauben, Muttern etc. unter der Qualitats- bzw.
Festigungsklasse 8.8 einzusetzen.

Es durfen nur geprifte Norton CLIPPER-Ersatzteile eingesetzt werden.

Die Lebensdauer der Verschleifldteile hangt von der Verwendung und Wartung der Maschine oder des Teils ab.
Verschleillteile miissen gewartet und bei Bedarf ersetzt werden. Fir Verschleifldteile wird keine Garantie lbernommen.
Ersatzteile sowie Komponenten mit dem Vermerk NA (NA=nicht verfligbar) sind nicht verfiigbar.



[ 4 ,
VERS. 2022.10.19 W g/[pﬁg[’ SPL CWT 315
SAINT-GOBAIN

Table / Table /Tisch

profilo squadra



y worron §

VERS. 2022.10.19 SPL CWT 315
SAINT-GOBAIN
Table / Table /Tisch
POS. DESCRIPTION DESCRIPTION BESCHREIBUNG QTY REF TYPE
1 |Table Table Tisch 1 |310573355| S
2 | Lifting eyelets Oecillets de levage Hebedsen 1 [310573416 | S
c3 | Extension cord Rallonge électrique Verlangerungskabel 1 | 310573451 S
4 |Extension support Support des extensions Verlangerungsunterstiitzung| 1 | 310573417 S
5 | Extension support :;Ei;';:garge 5D Verlangerungsunterstiitzung| 1 | 310573418 S
6 |Aluminum plug Bouchon en aluminium Stecker aus Aluminium 1 [310573419 | S
7 |[Legs Pieds Beine 1 | 310573420 | S
8 |[Foot Protection pied FuB 1 | 310573421 w
9 |Traverse Traverse Quertrager 1 | 310573422 S
10 |Rear crosspiece Traverse arriére hinterer Quertrager 1 | 310573423 S
11 | Support Support Unterstiitzung 1 | 310573424 S
12 | Guide Guide Guide 1 | 310573425 | S
13 | Guide Guide Guide 1 | 310573426 | S
14 | Switch bracket Support de commutateur Schalterhalterung 1 | 310573427 S
15 ﬁfgl‘('esw“"h i) Interrupteur 230V avec frein | 230V Schalter mit Bremse | 1 | 310573428 | S
16 | Guide support Support de Guide Fuhrungsbiigel 1 | 310573439 S
17 | Knob M8 Bouton M8 Knopf M8 1 | 310573440 S
18 | Knob M8 Bouton M8 Knopf M8 1 | 310573440 S
19 |Knob M6 Bouton M6 Knopf M6 1 | 310573441 S
20 |Guide Guide Guide 1 | 310573442 | S
21 |Longitudinal square [Carré longitudinal Langsquadrat 1 | 310573443 S
22 |Contrast key Touche de contraste Kontrasttaste 1 | 310573444 S
23 | Service key Clé de service Serviceschliissel 1 [310573445| S
24 |Push-hole Trou de poussée Push-Loch 1 | 310573446 S
25 |Side pusher Poussoir latéral Seitenschieber 1 | 310573447 S
26 |Angle Guide Guide angulaire Winkelschnittfiihrung 1 | 310573448 S
27 | Screw M8x16 Vis M8x16 Schraube M8x16 1 | 310573449 S
28 | Nut M8 Ecrou M8 Mutter M8 1 |[310573450 S
29 |Longitudinal guide Guide longitudinal Langsschnittfiihrung 1 |310573686 S
30 |Transvere guide Guide Transversal Querschneidefiihrung 1 | 310573687 S




[ 4 :
VERS. 2022.10.19 W g/[ppg" SPL CWT 315

SAINT-GOBAIN

Fixe blade groupe / Groupe lame fixe




VERS. 2022.10.19

Fixe blade groupe / Groupe lame fixe / Messergruppe fixieren

SAINT-GOBAIN

SPL CWT 315

POS DESCRIPTION DESCRIPTION BESCHREIBUNG QTY REF TYPE
1 |Blade group box Caise de groupe de lames | Schneidkopf-Gehduse 1 310573528 S
2 |Cover Couverture Abdeckung 1 310573529 S
3 |Seeger Seeger Seeger 1 310573517 S
4 |[Bearing Palier Lager 1 310573516 S
5 |Spindle shaft Arbre de broche Spindelwelle 1 310573522 )
6 |Key Clé Taste 1 310573519 S
7 |Spindle support Support de broche Spindelunterstiitzung 1 310573478 S
8 |screw vis Schrauben 1 310573518 S
9 |[Flange pulley Poulie a bride Flanschriemenscheibe 1 310573523 S
10 |Flange Flasque Flansch 1 310573525 S
11 | Nut M20 left Ecrou M20 gauche Mutter M20 links 1 310573526 S
12 |230 V motor Moteur 230 V 230-V-Motor 1 310573521 S
13 |Key Clé Schliissel 1 310573520 S
14 | Motor holder plate Plaque support moteur Motorhalteplatte 1 310573527 S
15 [Motor pulley Poulie moteur Motorriemenscheibe 1 310573524 S
16 | Booklet holder Porte-livret Broschiirenhalter 1 310573532 S
17 |Poly-V belt 8J Courroie poly-V 8J Poly-V-Riemen 8J 1 310573477 S
18 | Spindle reinforcement Renfort de broche Spindelverstirkung 1 310573476 S
20 |Suction tube Le tube d'aspiration Saugrohr 1 310573530 )
21 |Closure Fermeture SchlieBung 1 310573531 S
22 |Knob M8 Bouton M8 Knopf M8 1 310573440 S




[ 4 ,
VERS. 2022.10.19 W 0/]ppgf | SPL CWT 315

SAINT-GOBAIN

Blade guard / Carter de disque / Plattegehause

433

.
" Y




()
VERS. 2022.10.19 W g/[ppg[' SPL CWT 315
SAINT-GOBAIN
Blade guard / Carter de disque / Plattegehause
POS DESCRIPTION DESCRIPTION BESCHREIBUNG QTY REF TYPE

1 |Lateral Polycarbonate Polycarbonate latéral Seitliches Polycarbonat 1 310573574 S
2 |Bracket Support Halterung 1 310573576 S
3 | Polycarbonate glass Verre polycarbonate Polycarbonatglas 1 310573572 S
4 |Screw Vis Schraube 1 310573534 S
5 |Screw Vis Schraube 1 310573535 S
6 |Nut Ecrou Mutter 1 310573571 s
7 |Screw Vis Schraube 1 310573573 S
8 [Block Bloquer Block 1 310573567 S
9 |Bearing Palier Lager 1 310573566 S
10 |Screw Vis Schraube 1 310573533 S
12 |Divider wedge Coin diviseur Trennkeil 1 310573575 S
13 |Screw Vis Schraube 1 310573569 S
14 | Nut Ecrou Mutter 1 310573570 S
15 |Blade guard Carter de lame Klingengehause 1 310573568 S




VERS. 2022.10.19

10

L clipper

SAINT-GOBAIN

SPL CWT 315



VERS. 2022.10.19

L clipper

SAINT-GOBAIN

SPL CWT 315

11



VERS. 2022.10.19 SPL CWT 315

LT clipper

SAINT-GOBAIN

SAINT-GOBAIN ABRASIVES
INDUSTRIEWEG 21

9420 ERPE-MERE
BELGIUM

TEL: +32(0) 2 267 21 00

SAINT-GOBAIN CONSTRUCTION PRODUCTS
CZAS

DIVIZE ABRASIVES

SMRCKOVA 2485 /4

180 00 PRAHA 8

CZECH REPUBLIC

TEL: 4420255719 326

FAX: 4420255719321

SAINT-GOBAIN ABRASIVES A/S
DYBENDALSVZANGET 2,
DK-2630 TAASTRUP
DENMARK

TEL: +454675 5244

PO BOX 643706

FORTUNE TOWER OFFICE 2106
JLT BLOCK C

(NEXT TO METRO STATION)
JUMEIRA LAKE TOWER, DUBAI
UNITED ARAB EMIRATES

TEL: +9714 4315154

FAX: +9714 4315434

SAINT-GOBAIN ABRASIFS
RUE DE L’AMBASSADEUR - B.P.8
78 702 CONFLANS CEDEX
FRANCE

TEL: +33 (0)1 34 90 40 00
FAX: +33(0)139198956

SAINT-GOBAIN ABRASIVES GMBH
BIRKENSTRASSE 45-49

D-50389 WESSELING

GERMANY

TEL: +49 (0) 2236 703-0

FAX: +49 (0) 2236 703-730

SAINT-GOBAIN ABRASIVES KFT.
1225 BUDAPEST

BANYALEG U. 60/B.

HUNGARY

TEL: +3613712250

FAX: +3613712255

SAINT-GOBAIN

Saint-Gobain Abrasifs

190 Rue J.F. Kennedy

L-4930 Bascharage

Grand Duche de Luxembourg

Tel: +352504011

Fax: +33183717792
no. vert (France) 0800 906 903

SAINT-GOBAIN ABRASIVI S.P.A
VIA PER CESANO BOSCONE 4
1-20094 CORSICO MILANO
ITALY

TEL: 43902 44 851

FAX: +3902 4478266

SAINT-GOBAIN ABRASIVES S.A.
190 RUE J.F. KENNEDY

L-4930 BASCHARAGE

GRAND DUCHE DE LUXEMBOURG
TEL: +352504011

FAX: +33183717792

NO. VERT (FRANCE): 0800 906 903

SAINT-GOBAIN ABRASIFS, S.A.
2 ALLEE DES FIGUIERS

AIN SEBAA - CASABLANCA
MOROCCO

TEL: +2125226657 31
FAX: 4212522350965

SAINT-GOBAIN ABRASIVES BV
GROENLOSEWEG 28

7151 HW EIBERGEN

P.0.BOX 10

7150 AA EIBERGEN

THE NETHERLANDS

TEL: +31 545 466466

FAX: 431545 474605

SAINT-GOBAIN ABRASIVES AS
KARIHAUGVEIEN, 89

0186 OSLO

NORWAY

TEL: +47 638706 00

FAX: +47 6387 0601

SAINT-GOBAIN HPM POLSKA SP.Z 0.0.
UL. NORTON 1, 62-600 KOLO

62-600 KOLO

POLAND

TEL: +4863 2617100

FAX: +4863 2720401

SAINT-GOBAIN ABRASIVOS, L. DA
ZONA INDUSTRIAL DA
[-SECTOR VIII, NO. 122
APARTADO 6050

4476 - 908 MAIA

PORTUGAL

TEL: +351229 437940

FAX: +351229 437 949

MAIA

SAINT-GOBAIN GLASS

BUSINESS UNIT ABRASIVI

PUNCT DE LUCRU : LOC.VETIS, JUD.
SATU MARE 447355

STR. CAREIULUI 11

PARC INDUSTRIAL RENOVATIO
ROMANIA

TEL: +40 261839709

FAX: +40261839710

SG HPM RUS

58, F. ENGELS STR.
STROENIE 2

105082 MOSCOW
RUSSIA

TEL: 474 955 408 355
FAX: 474959 373 224

SAINT-GOBAIN
ABRASIVES (PTY) LTD

2 MONTEER ROAD
ISANDO 1600

P.0.BOX 67

SOUTH AFRICA

TEL: +27 119612000
FAX: 42711961 2184/5

SAINT-GOBAIN ABRASIVOS, S.A.
CTRA. DE GUIPUZCOA, KM. 7,5
E-31195 BERRIOPLANO (NAVARRA)
SPAIN

TEL: +34 948 306 000

FAX: 434948 306 042

SAINT GOBAIN ABRASIVES AB
GARDSFOGDEVAGEN 18A

168 66 BROMMA e SVERIGE
SWEDEN

TEL: +46 858088100

FAX: +46 8580881 30

SAINT-GOBAIN INOVATIF MALZEMELER VE

ASINDIRICI SAN. TIC. AS.

ALTAYCESME MAH. CAMLI SOK. NO:21 ESAS

OFISPARK KAT:9 34843
MALTEPE, ISTANBUL  TURKEY
TEL: 0090-216-217 12 50

FAX: 0090-216-442 40 74

SAINT-GOBAIN ABRASIVES LTD.

UNICORN HOUSE UNIT 1, AMISON CLOSE

REDHILL BUSINESS PARK
STAFFORD ST161WB
UNITED KINGDOM

TEL: +44 1785279553
FAX: +44 1785 213 487

www.nortonabrasives.com/fr-fr



